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7 N () T = i & (M) HEBFEYEE (M)

YRR 123,224,200 112,022,000 (A) 11,202,200

PN ey | 127,822,200 116,202,000 (B) 11,620,200
YRR RS 116,765,000 106,150,000 (C) 10,615,000
EHEGEABR 121,121,000 (F) 110,110,000 (D) 11,011,000 (E)

HEIREE 4,356,000 3,960,000 396,000
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2 RETEFBRMBIBEER M LBELISE No. 1
RETZEEI REtEHEE .
34 L 3- b= 1ﬁ;i =
® H W= g B B s I T o | EUEEE WE
[ERZAR %
[ #ETHE = 39,800,511 = 43,150,191 3,349,680 HE%H
II| EXEE LS =Y 10,392,895 = 10,392,895 0
ID| AR T2 Y 32,174,384 = 32,174,384 0
RN X 82,367,790 85,717,470 3,349,680 H4%H
Him g
I| ke Y 3,328,629 = 3,437,857 109,228 |H9%E
0| B5E e =X 13,289,515 =X 13,589,235 299,720 HE%H
— R R 2y 13,036,447 X 13,458,152 421,705 HE%H
Fam 29,654,591 30,485,244 830,653 H4%E
EFF 112,022,381 116,202,714 4,180,333 H&%H
AR RE (L Fm k) T 112,022,000 116,202,000 4,180,000 HE%H
THE RS Y%A 11,202,200 11,620,200 418,000 H4%E
wER (LEE) 123,224,200 127,822,200 4,598,000 H&%E




20 REDFRM1IRBER LA LBETSE No. 2

REtEER REEFR a3
& H BOF | ye wm mm 28 | BB HE M o | EUEEE WE
I |BETSE
Al | BRI 1 K 20,000,649 1 =X 20,000,649 0
A2 |V EJR/INFIR 1 = 19,799,862 1 = 23,149,542 3,349,680 |Ha%H

At 39,800,511 43,150,191 3,349,680 HE%H




20 REDFRM1IRBER LA LBETSE No. 3

B H BB | oy wg o owE sm | mE wm o wm  sg | EOMWE W3

Al | REPZER

1 (B R LF 1 3L 809,000 1 K 809,000 0

2 [EEESETE 1 K 4,215,419 1 K 4,215,419 0

3 |NHESE L= IRE- 6,327,075 1 3L 6,327,075 0

4 (BELETE 1 K 145,944 1 K 145,944 0

5 |2=yb R OFEDOMTH 1 3L 6,091,188 1 K 6,091,188 0

6 |[fk- st 1 K 2,412,023 1 K 2,412,023 0

it 20,000,649 20,000,649 0




2 RETEFBRMBIBEER M LBELISE No. 4
RETE EAT RETERR e
. - 1EiEEE
® H wmE g B B s g B B o | EUEEE W
A2 [FERE/NMNER
1 |EERGETE 1 K 1,023,232 1 =X 1,023,232 0
2 |[BEdELE 1 = 2,581,488 1 = 2,581,488 0
3 |k s T E 1 K 8,189,435 1 =X 8,189,435 0
4 |[BEXETE 1 = 100,509 1 = 100,509 0
5 |2zyb KR OFOM T 1 K 5,142,570 1] =X 5,142,570 0
6 |-y 1 = 2,762,628 1 = 6,112,308 3,349,680 |Ha%H
&% 19,799,862 23,149,542 3,349,680 HE%H




